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INTRODUCTION

This memory indicates the important procedure to detect the
errors in coding, recording and punching in the data for the
research of RURAL employment.

The memory includes a program used by the IL.B.M. 1620
electronic computer, and its Block diagrams.

The program consists of five tests. Lvery test checks
a kind of errors which are puncihed in the cards.

The first Test checks the code of employment status and the total
of the operating hours.
The Gest number two checks the code for reasons of unemployment

‘owing to the code oi cuployacnt status and the total of operating

--hours.

The third test checks the total hours of each individual with the
sum of the hours concerning the.fiVe operations.

The test number four checks some sort of codes for operations,
means, crbps, hours and places for each operation from the five

. operations of the code sheet.

The last test checks the temporary individuals that have no

operating hours.
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EXPRESSIONS. USED IN THE PROGRAM

GOVERNORATE

Viiiage

Eouséhold ;

Hundred position of serial number of the individual
Ten " " " 1 £ 1n it

Uﬂlt " 114 n " n HELL "
MOUNTH

DAY

EMPTOYMENT STATUS

EXPRESSION CONSISTS reason of unemployment in the high
position and total hours in the low positions

Reason of unemployment

Total hours .

0P(1;2,3,4,5) <Operations  ;#
OFl(1,2,344,5); mean
CROP(1,295,495); crop
H (1,2,3,4,5)shours
SIDE(1l,2,3,4,5)2place
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Card no 4
Distribution of the columns

Card NUMBER OF
G oIine Golamns | DISCRIPTION
21} 1L CARD number
2 i} Sample
3 1 Governorate
4 4 Village J. 7
S it Serial numoer of the household |
6= 8 3 o " of the individuals|
9 - 10 e MONTH
RS 2 DAY
| 5 . i Employment status
14, il Reasons of unemployment
15 - 16 2 Total hours
| 17 - 18 2 Operation\
19 1 mean L
20 il Crop - Operation number 1
21 - 22 2 hours
25" i place
24 - 30 7 Operation number 2
i AL =57 7 E & 3
SER =Rt 7 ¢ g 4
25 = B 7 " - 5
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Summary of the block diagram

TEST NUMBER (1) i
CHECKING THE EMPLOYMENT STATUS CODE WITH
THE TOTAL OPERATING HOURS

TEST NUMBER (2)

CHECKING THE REASONS OF UNEUPLOYMENT CODE

OWING TO THE TOTAL OFERATING HOURS AND EMPLOYIENT
STATUS

TEST NUMBER (3)
TESTING THE FIVE OFERATIONS HOURS WITH

THE TOTAL OFERATING HOURS

TEST NUUBER (&)
SOME TESTS FOR OPERATIONS 1,2,3,4,5
WITH MEANS, CROPS and OPERATING PLACE

I

TEST NUMBER (5)

- CHECKING THE TEUMPORARY INDIVIDUALS WITHOUT

OFPERATING HOURS
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Description of the program

This program which consists of instructions used by the I.B.l.
1620 Data processing system, leads to some checks to the

coding operations to sheet number 4 (Household employment record).
The source program contains two parts:

i) Initial statements

(2) 5 tests to check the code

The initial statements

The data cards for the sheet number 4 are read by the computer,
owing to the format which is explained in the schedule containing
the distributions of the card columns. The read instructions in
the source program is difined by the expressions which represent
the description of the card fields.

The code for the reason of unemployment contains the x sign

as a code to the unknown. The 1620 machine reads the x sign

in one column as a zero. For this reason, it i1s important to
read a field from three columns (columns 14,15,16), which consists
of reason of unemployment in column 14, and total number of
operating hours in punched columns 15,16. Thig - f£ield is
denoted by (UNTH) as mentioned in the expressions given before,

By using this way, the machine can sense the x sign as a minus.
Then there are some instructions which can seperate this feild

e reasons of unemployment (UNENP)

& total number of operating hours (THL).
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Test number 1

It consits of some statements to fully check the employment
status code (EiP) in column 13 owing to the total of the operat-
ing hours (TH1) in column 15~-16

Phe code of the employment status is as the following:

Code | Discriptions

0 wiunout work

1 working less than three hours

2 2 from three hours to less than six hours
5 " 1" SILX o L] i " ten n

4 5 ten hours or more

Comparing the employment status code with to the intervals of
the total operating hours, if there is difference, the type-
writer of the computer types The group indication of the
card, the employment status,the reasons of nnemployment and
the total hours as the followings:

¢ ¥ H NG DATE EiP UNEMP TH

RS T S et PN N

1 6 3 002 19 06 1964  EUPLOYMENT STATUS ER:OR 3 8 O4

The right employment status code must be 2 instead of 3,
because the total hours from three hours to less fhan six hours
must has employment status code 2.



TEST NUMBER 2

It consists of some statements to check the reasonons of
unemployment code (UNEWP) in column 14 owing to the total of the
operating hours ( TH1) in columns 15«16,

The code zero is given for complete employment (6 hours and
more), Otherwise the code will indicete the reasons for unemplo-
yment or incomplete employment. By the statements in this test
the total operating hours is devided to :

© hours or more
& less than six hours.

Comparing this with the reasons of unemployment eode, if there
is difference between the code and the hours the typewriter
types the group indication of the card the employment status jthe
reasons of unemployment and total of the opersting hours as the
following ¢

GV H-wN O DATE EMP UNEMP THL

N et R R ™ B Nt N

467 002 24 06 1964 Reascn of unemployment 2 0 L
: error

In the above case as the total hours are four ,then the code
for the reason unemployment must not be zero. If the code for the

+reason of unemployment is =x +the machine types 9 instead of the

ot

sign x, In the following case there is another example for sn
error 1in the code reason of unemployment and that for the employ-
ment status ¢

GVH NO DATE ENMP UNEMP TH1

R O N T

4 4 o 004 29 06 1964 REASON of unemployment 2 8 7
error

4 4 6 004 29 06 1964 EMPIOYMENT Status error 2 8 2



TEST NUUMBER 3.

T+ consists of some statements te check the total hours
(THL) with the sum of operating hours for the five operations
which are punched on the card (H1, H2, H3, H4, H5) in columns
21-22, 28,29, 35-36, 42-43, 49-50, If there 1s difference
between the total of operabing hours and the sum of hours for
the five operations, the typewriter types the following:

GVH NO DATE THL HL H2 H5 H4 H5
X

655 002 05 06 1964 Hours error poutm Tl

Tn the asbove case the sum of hours for the five operations is
6 hours whil> the total hours in the code gheet is 7 hours. If
for any reason the total hours is more than 24 (punched or coder

mistake) the machine types the group indication and this notation.
"motal hours exceed than 24 hours.’



Test number shs

It includes some sorts of tests for operation, mean crop
and place code. The check is done for the five operations which
are punched in the card. If there are punches representing mean,
crop and place, or any of them and there is no operation code,
the machine types one or more of the following:-

& V H KO Date

4 4 4 001 Q9 Ob 1964 WMEAN without operation(l,2,3,4,5)code
42 1 005 22 06 1964 Crop n I tr "

4 4 3 211 =08 06 1964 place n " 1" "

On tne contrary in other cases perhaps there is an operation
code and there is no code for mean or Place, the machine then
types one or more of the following:-

G V H mo  DAld
4 3 2 002 25 06 1964 Operations(l,2,3.4,5)without mean code
e 59

007 27 06 1964 o (1,2,3,4,5) = place code

The code of the mean is as the following:-

1l- kanual
2= using animals
B 4] machines

4-  without means
If the code of the mean is more than four, the machine types the
group indications and mentions that there is a mean code error as
the followings- '

G V H No —DAL&

4 5 4 003 18 06 1964 Operations(l,2,3,4,5)mean code error *»
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The code of the operating place is as the following:-

1l- inside the tenure
2- outside the tenure & paild

3_ 1] n n & sharing

4 " = " & friendship

B " " " & in public affairs
6_ " T ] & unpald

If the code of the operating place exeeds 6, the machine
types the followings-

¢ IV H No Date ;

5 3 0 004 28 06 1964 Operation(l,2,3,4,5)place code error

Test number 5.

This test consists of some statments which are used to make
check on the temporary individuals (children, women and men)
who have no. operating hours.

If there is an error Ghe machine types the following

Date

pEEEEE————

G V H NO

4 4 8 411 14 06 1964 Temporary without hours.



UNGP = 9,
EVE =
-] % UNTH

UNEMI’J = 000
PH]. = UNTH

UNEMP = 1.0

speal, =

| UNEWP = 2.0
i THI =
| UNTH - 200,

l

[ UNGE = 3.0
| Uiy

UNTH ~ 300,

f

UNgP = 4.0

ELHIL =
| UNTH = 400,
UNEWMP = 5.0

Sl THIL

UNTH = 500,

THL =
UNTH = 800,

UNEMP = 7.0

v
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C INITIAL aNSTRﬂc

1

..',‘..‘\»l\),...

2

WO N e
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) rm— —h ol
(o e LN cA\Un

B ot
o0

21
/i

s T LS &
KEHL “gug v g gl UDUM
0pi; OPMl "CROP1
0PZ, OPML *CROP2
op 3’ 0PM3}CROP3
OPk; 0pMk, CROPL
FORMAT (2X, 6112 y

PASS2=0,0

lF(UNTH)B

UNEMP=9, 0

TH1==1, O¥UNTH

GO TO 101

UNEMP=0,0

TH1=0,0

PASSZ=5

GO TO 101

| F(UNTH=99,0)6,6,7
UNEMP=0, 0

TH1=UNTH

GO TO 101

i F(UNTH-199,0)8,8,9
UNEMP=1,0
TH1=UNTH=100,0

GO 'TO 18% =-

i F(UNTH=299,0)10,10,11
UNEMP=2,0
THi=UNTH=200,0

GOIY0 161 -
iF(UNTH=399,0) 12,12 13
UNEMP=3,0
TH1=UNTH=3 00,0

GOITO 107 -

| E(UNTH=499,0) 14 14 15
UNEMP=k, O
TH1=UNTH=hoooo

GO To 101

i F(UNTH=599,0) 16,16, 17
UNEMP=5,0
TH%@UNTHﬂSOO 0

GO TO 10

!F(UNTHmGSS 0)18,18,19

UNEMP=6, 0
Tleuner6 00,0

01

!F(UNTHw?SB 0)20,20,21
UNEMP=/

TH 'UNTH=700 0

GO TO 101
lF(UNTH=899.0)22 22.23
UNEMP=8,0

EE’TENI%EBOO°°
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TEST NO(1l) TO CHECK THE EMPLOYMENT
STATUS CODE WITH HOURS.
FROM INITIAL DIAGRAII

- PRINT
\ i __*NT STATUS

S

| _ =
!

me,y Mmmam NO -y
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C TEST NUMBER(1) TO CHECK THE EMPLOYMENT STATUS CODE WITH HOURS

101 §F(TH1-10,0)103,102, 102
102 |F(EMP~L,0) 110,201,110
103 IF(THI=6,0)105,104,104
104 |F(EMP~3,0)110,201,110
105 {F(TH1-3,0)107,106,106
106 |F(EMP=-2,0)110,201,110
107 1F(THI) 110,109,116
108 |F(EMP-1,0)110,201,110
{ 109 iF(EMP;110,20i,110 '
110 PRINT 111,G,V,HS,H,T,U,DD,0M,EMP,UNEMP,TH1
111 FORMAT(11,1%11,1X01,1%311,2X12,1X12,37H 1964 EMPLOYMENT STATUS ER

© XROR i1, 1%i1,1%)2)
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EST NUMBER (2) TO CHECK REASONS OF UNEMPLOYMENT CODE

01 |F(PASS2-5,0)202,301,202

02 |F(TH1~6,0)203,204,204

03 {F(UNEMP)301,205,301 |

ob |F(UNEMP)205,301,205

5 PRINT 206,G,V,HS,H,T,U,DD,DM,EMP,UNEMP,TH 1

06 FORMAT(i1,1X11,1X01,1X311,2X12,1X12,37H 1964 REASON OF UNEMPLOYME
CXNT ERROR ,01,1X11,1X12) e, S
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PEST NUMBER 2 TO CHECK REASONS OF UNEMPLOYMENT CODE.

FROM TEST'NO 1

PRINT
REASON

OF UNEwF.
BERROR

£§

> i

fids 1 1

|

TO TEST NO 3



TEST NUMBER 3 TO CHECK OPERATING HOURS
FROM TEST NO 2

PRINT
TOTAL
HOURS
EXCKED THAN

24 HOUBS

¥

TH2 = Ooo

TH2=H1+H2+H3
+H4+HS

PRINT
HOURS
ERROR




C TEST NUMBER(3)TO CHECK OPERATING HOURS
301 |F(TH1=24.0)30k4, 304 202
302 PRINT 303,G,V,HS,H,T,U,DD,pM,
303 FORMAT(I1, IXII 1x11 1x3|1 zxnz 1x12 39H 1964 TOTAL HOURS EXCEED T
XHAN 2L HOURS)
304 TH2=0,0
TH2=H 14H2+H3+Hb+H5
iF(THl~TH2)305 1+01 305
305 PRINT 306,G,V,HS, H T,U,DD,DM,TH1,TH2 H1,H2 ,H3 Hl H5
306 FDRHAT(!T91X3191X!191X3l1,2X3291X12922H 1964 HOURS ERROR
XH(,12,2H)=,12, TH+, 12, TH+, 12, TH+,12, TH+,12)

2.1

4 0
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D451 NUMBER 4(A) OPERATIONS, MEANS, CROPS, HOURS AND
PLACE 70 THE OPERATION No 1
1 FxOM TEST no 3

Sy

PRINT PRINT
oPERATIj HEAN

WIS TH guT WITHouT

ME AN CoDE oPERATIeN §
| i —> CoDF
w\/

PRINT

CPERATION 4

MEAN Cq DF
. ERRaR

P&%T PRINT

o PERKT [ap § PLACE
WITHouT 1TH aul

PLACE o~ ;"P,;Mmm
B 8 CoDE(’ﬁh
PRINT
OPERAT Loy 4
| PLACE

|CoDE £ RRaR

2

TO TEST No 4 B

res
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C TEST NUMBER(#)TO CHECK L{MITS OF MEAN,CROPS AND PLACE CODE

401 [F(op1)402, k02, 411
4102 jF(OPMI)LO5 405, 403
403 PRINT 4Ok G,V HS H, T,U,DD,DM

Lok FORMAT(EI 1Xi1, 1Xﬂ1 1X3H] ZXHZ IXEZ 36H 196#
XON 1 CODE) : '

EF(CROPI)‘-}O‘B l+08 406
406 PRINT 407,G,V,HS,H,T BL,UU DM

407 FORMAT(S1,1X51,1X51, 1x331 2x52 lxaz 36H 1964
e (3 conE) or o

iF(SIDE1)501, 501 409
409 PRINT hzo,e,v HS, H T,U,DD,DM

MEAN WITHOUT OPERATI

CROP WITHOUT OPERATI

410 FORMAT(Hl IXEI 1XH1 1X3EF ZXHZ IXHZ 36H 1964 PLACE WITHOUT OPERATI

 XON 1 CODE)

3 bid ﬂF(OPME)Mz 412 lﬂh

412 PRINT 413,G,V,HS JH T U,0D,DM

L13 FORMAT(B1,1X17,1X89,1X311,2X12,1Xi2, 36H 1964
XMEAN CODE)

b1k (F(OPMI-L, thi7 417 s

415 PRINT 416,G,V,HS,H,T,U,DD,DM,

416 FORMAT(11,1X11,7X11,1xX31 ISZXEZaIXHZoBQH 1964
XE ERROR)

417 1F(SIDE1) 48, h18 uzo

418 PRiNT 419,G,V,HS,H,T,U,DD,DM

419 FORMAT(11,1X11,1Xi1,1%311,2X12,1%12,37H 196k
XPLACE CODE)

L20 {F(SIDE1=6,0)501 501 421

k2% PRINT b422,G,V,HS,H,T,U,DD,DM

422 FORMAT(I1,1%01,1%01,1X301,2X12,1X02,35H 196k

OPERATION 1 WiTHOUT

OPERATION 1 MEAN COD

OPERATION 1 WiTHOUT

OPERATION 1 PLACE CO



DEST NUMBER 4 (B) OPERATIONS, WEANS, CROPS, HOURS
AND PLACE TO THE OPERATION o 2
2 FROW TEST No &4 A

RINT
EPERJ\T!anL

WITHouT
MEAN CoDE

o

PRINT

\ c

MEAN
WITHaul

GPERATIoN )
Gl =i X

P |
oPERATIon 2,
MEAN CoDE

ERROR =

PRINT
GRaP = 7
w[THou’

| g PERATIeN 2

-

PRINT
oPE R AT [y 9
WITH ot T
FLAC{' CaQ{

.

STt PERATION 2

PRINT
OPERAT!oN ,Q
PLACE

CoDE ERRo] +

PRINT
PLACE
W THeuT

CoDE
/
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501 |F(0P2)502,502,511 i

502 IF(0PM2)505,505,503
503 PRINT 504,G,V,HS,H,T,U,DD,DM

504 FORMAT(I1,1X11,1Xi1, Ixsul 2xnz lxaz 36H 1964 MEAN WITHOUT OPERATI

XON 2 CODE)
50 F(CROPZ)SOB 508 506
506 PRINT 507,G,V,HS H,T,",DD DM
507 FORMAT(11,1X11, 1x51 zxsni zxuz nx 2 36H 1964 CROP WITHOUT OPERATI

XoN 2 COBE) _ .
508 [F(SIDE2)601,601,509

509 PRINT 510 G V HS H ToU DD DH
510 FORMAT(II IXEI !Xﬂl 1X3ﬂl ZXHZ IXEZ 36H 196Q PLACE WITHOUT OPERATI

XON 2 CODE)

511 1F(0PM2)512,512,51h

512 PRINT 513,G V HS H T u,ob, DM :
513 FORHAT(ﬂl 3Xﬂ1 1XB1 IXBHE ZXHZ IXHZ 35H 1954 OPERATION 2 WITHOUT

XMEAN CODE)

514 jF(oPM2=k,0)517, 517 515

515 PRINT 516,G,V,HS,H,T,U,DD,DM,

516 FORMAT(I1,1X58,1X01 iXBHE 2X12, ﬂxnz 3hH 1964 OPERATION 2 MEAN COD
XE ERROR)

517 {F(si 052)518 518,520

518 PRINT 519,G,V,HS,H,T,U,DD,DM

519 FORMAT(i1,1X11,1X11, IXBH! 2X12,1X12, 37H 196# OPERATION 2 WITHOUT
XPLACE CODE)

520 1F(siDE2-6, 0)601, 601 »521

521 PRINT 522,G,V,HS,H,T, u DD,DM ;
522 FORMAT(11,1x11,1x11,1x311,2X12, IXHZ 35H 196# OPERATION 2 PLACE CO
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Do NUMBER 4 (C) OPERATIONS, MEANS, CROPS, HOURS
AND PLACE 0 THE OPERATION No 3

3 HROM TEST No 4 B

=90

PRINT PRINT

0 PERATIoN 3 AME’S Nu'r
W ITH o

WITH guT oPER ATIoN 3

MENN cabf €<

9

CODF )

(P RINT w
OPERP\TJONS 205 72
MEAW coDE) 7N |

s i = N o o PERATINS
ERReR : /\ OPMS’._,@;, > CeDE

—.‘__\ir“\ \/;// /r-""
Ernes o ] ““”/j*l"

| PRINT ] [ BRI
oPERATIen 3 PLACE

\\‘ﬁ" WITH adT

oPERANTIoN 3
CCDE/.——

i

&

S
W ! T"{ ¢ M—T— I / \%‘\\
PLACE CodE Ly~ SIDE 3>
.

S

|PRINT

oPE RATjio 3
PLACEF
CoDE ERReR [T

/T‘W'

TO TEST Ne 4 D



601 1F(0P3)602,602,611 =
602 |F(0PM3)605,605,603
603 pRINT 604,G,V,HS,H,T,U,DD,DM

604 FORMAT(I1,1X011,1X11,1X311, 2x12 1XI2 36H 1964 MEAN WiTHOUT OPERATI
XON 3 CODE) =

605 IF(CROP3)638, 608 606

606 PRINT 607,G,V,HS,H,T,U,DD,DM

607 FORMAT(!1,1Xi1,TXii,llei,ZXEZ,IXH2,36H 1964 CROP WITHOUT OPERATI
XON 3 CODE)

IF(SIDE3)701,701, 609 ;

609 PRINT 610,G,V,HS,H,T,U,DD, DM :

610 FORMAT(81,1X11,1Xi1, 1x3u1 zxaz IXHZ 36H 196h PLACE WiITHOUT OPERATI
XON 3 CODE) s

611 gF(UPM3)6y2?6j2,§14

612 PRINT 613,G,V,HS,H,T,U,DD,DM

613 FORMAT(11,1X11,1x01,1%311,2X02,1X12,36H 1964 OPERATION 3 WiTHOUT
XMEAN CODE) v

61l 1F(OPM3-L, 0)617 617 615

615 PRINT 616,G,V,HS,H,T,U,DD,DM,

616 FORMAT(I1,1X11,1X81,1X381,2X12,1X12, BhH 1964 OPERATION 3 MEAN COD
XE ERROR) |

617 1F(SIH DE3)618 618 620

618 PRINT 619 G,V,HS,H,T,U,DD,DM
619 FORMAT( P1,iX11,1X81,1X311,2X12, IXHZ 37H 1964 OPERATION 3 Wi THOUT

XPLACE CODE)
620 F(SIDE3=6,0)701, 701 621
621 PRINT 622,G,V,HS,H,T,U,DD,DM
622 FORMAT(11,1x11,1%11,1X311,2X12,1X12,35H 1964 OPERATION 3 PLACE CO

XDE ERROR)



TEST NUMBER 4 (D) OPERATIONS, MEANS, CROPS, HOURS
AND PLACE TO THE OPERATION No &

4 FROM TeST No 4 C

PRINT PRINT
0 PERAT [o ¢ ME AN
WITH e T WITH T
MEAN CoDE ofel i AN,
-' y
PRINT PRINT™
OPERATIaN ¢ C RoP
MEAN CcoDg wITHouT |/
ERReoR = soPgR[ATIoN 4
—-m COD Ly,
PRINT =
6PERATIon P?_L‘\é}
WITH e T P,[I'—I.{ T
PLACE Col) [== - ::’ogRATJcN 4.
CoDE |

PRINT
oPER NTioy 4
PLACE

CeDE ERRR

TO TEST No 4.8
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701 |F(0Pk)702,702,711 _

$702 1F(0PMi)705,705,703
7C3 PRINT 704,G,V,HS,H,T,U,DD,DM

7CH FORMAT (1T, 1X11,1X1 1, 1X311,2X12,1X12,36H 1964 MEAN WITHOUT OPERATI
XoN Licope)y . -

7 % iF(CROPL)708,708,706

705 PRINT 707,G,V,HS,H,T,U,DD,DM

707 FORMAT(11,1Xi1, 1Xi1,1X31 1 zxnz IXIZ 36H 1964 CROP WITHOUT OPERATI
XON 4 CODE) |

708 |F(SiDE4)801,801,709

709 PRINT 710,G,V,HS,H,T,U,0D,DM

710 FORMAT(11,1X11,1X11,1X341,2Xi2,1Xi2,36H 1964 PLACE WiTHOUT OPERATI

L XON % CODE) ' ok ;

711 iF(OPM4)712,712,714

712 PRINT 713,G,V,HS,H,T,U,DD,DM

713 FORMAT(i1,1x11,1X11,1X311,2Xi2,1X12,364 1964 OPERATION % WITHOUT
XMEAN CODE) | e sl '

714 yF(0PM-4,0)717, 717 715

715 PRINT 716,G, v, HS H T,U,DD DM,

716 FORMAT(I11,1Xi1,1Xi1 1x311 2X52, lxaz 3AH 1964 OPERATI ON ) MEAN CoD

XE ERROR) e
17 1F(siDEk)718,718,720
* 718 PRINT 719,G,V,HS,H,T,U,DD,DM
719 FORMAT(I1,1Xi1,1X11,1X311,2Xi2, IXiZ 37H i96h OPERATION 4 WiTHOUT

XPLACE CODE)
720 iF(S1DE4-6,0)801,801,721

721 PRINT 722,G,V,HS,H,T,U,DD,DM
722 FORMAT(11.1Xi1.1x11,1X311,2X12,1Xi12,35H 1964 OPERATION & PLACE CO



e
TEST NUMBER 5 (E) OPERATIONS, MEANS, Ck
AT DT - ; b : : h‘ :
AND PLACE [0 THE OPLrATION Nﬁ’ gROPb’ Tew
5 FROW TEST No 4 D ‘

PRINT
oPERATIoN §
PRINT

WITH euT .- |
MEAN conL e
' - WwWIT ol
o LR AT /N L
o (B0} B

PRINT
oPFRf\T—"’N 5
MEAN CaD F
ERRoR

PRINT ]
cReP &
WITH okT 8
ol cPERATION 5

CODE

= 4

PRINT
PLACE
WIiTH ou
sl OPER AT 10N £

CoDF

P\

PRINT
c PERATIopN 15
WITH oWl

FLENCE CoDE

'PRJAFT
0P ER NTion
PEAG E 2

CoDE FrRag [

A

| s

MO Mocim T~ =



805
806

iF0P5)802,802,811
\F(OPM5)805,80,803

PRINT 804,G,V,HS,H,T,U,DD,DM
FORMAT (11, 1Xi1,1XF1,1X3i 1,2Xi
XON 5 CODE)

i F(CROP5)8 08,808,806

PRINT 807,G,V,HS,H,T,U,DD,DM

2,112,560 %95k MENT WETHOUT DEEReEr

807 FORMAT(I1,1X11,1XI1, 1x3|1 2X12,1%12,36H 1T96%  CROP WITHOUT OPERATI

808
809

XON 5 CODE) -
IF(SSDES)SOI 901, 809
PRINT 810,G, V HS,H,T,U,DD, DM

810 FORMAT(II 1X!1 1XII 1X3i? 2XI2 1X!2 36H 1964 PLACE WITHOUT OPERAT!

811
812

XON 5 CODE)
{F(OPM5)812,812,814
PRINT 813,G,V,HS,H,T,U,DD,DM

813 FORMAT(!I 1x11 lxll IXSII 2xsz 1xs2 36H lﬁﬁﬁ OPERATHON 5 Vi THOUT

8ikL
815

XMEAN cone)
| F(OPM5-4, 0)817 817, 815 |
PRINT 816 26, Y, HS H T,U,DD DM,

816 FORMAT(i! 1Xl1 1Xll 1X3Ii 2X12, 1Xi2 34H 1964 OPERATION 5 MEAN COD

817
818

XE ERROR)
!F(SIDE5)818 818 ,820
PRINT 819, G V, HS H, »T,U,DD,DM

819 FORMAT(II IXII IXIT 1X3]1 2X12 IXIZ 37H 1964 OPERATION 5 WITHOUT

XPLACE CODE)

820 IF(SIDE5~6, 0)901 901 321 o

821

PRINT 822 sGs Vs HS H T U DD DM

822 FORMAT(II Ixal 1x11 1x3§1 2x12 1xs2 35H 1964 OPERATION 5 PLACE CO

VI FRROR') '



=50=
TEST NUMBER 5 TO SELECT THE TEMPORARY

WITHOUT OPERATING HOURS.

FROWM TEST NO &

FPRINT
TEMPORA
WITHOUT

HOURS

e o BRANCH TO READ
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Y

C TEST NUMBER(5)TO SELECT THE TEMPORARY WITHOUT OPERATING HOURS

901 IF(H-2,0)999,902,902

902 |F(TH1)903,903,999

903 PRINT 90%,G,V,HS,H,T,U,DD,0M

904 FORMAT(I1,1XI1,1XI1,1¥311,2XI12,1X12,304 1964 TEMPORARY WITHOUT HO
e , o S A T

999 GO TO 1
END
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